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Homeuork 
The AlanetNeptune ttraw els in nearyCUtcla 

about the Otbitof tLadius L 45x (o Em 
Sn E takes Neptune G5 y earts to Mak a make a 

Complete ttcip QtcoUbd So0 Houo ast(kmlh) 

does Neptune trrawe 7nthe O rcbit 

Radius of Neptone = 4.5 10 km 

Timetaken by Neptona to Compete One 

Fleuolution Qrcound Spn 

Ef metakon by_Neptone to Compiete Dne 

ievoloion around Snn in_ hoorrs = 

=I65 years 
L65 364 24 hrrs 

Then Velocity OF Neptone 

V 2 
t 

2X 2,14 x_ 4.5 KO 
165X364K 24 

2 10 Kmh 

Veto Veloity OF Neptone is 2x 10 km/h.. 
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22 2 ACircular rrack has cinumforanco of 314M Ond AB as One D dametre 
A-B alonq the Cruularc poath oith o 

A cycist ttrau els 

velo.cit4 f L5 mls_ Fnd 

distance moved br Cyclist a 

displacement f uyLolist if AB ropres.ents M-S 
dirrection 

C Qw ertage velecity 

pistonce Maued by Cyclist = 

AS the Cylist mou ed frrom A 
fo B in a cirulare path 
and Ae is 0 dia m etrce, So 

can Say that the body 
moved in a 

we 

Semicirue_path 

olistance noued byCy4clist 

314 27 B 
2 

5 m. 
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Hence distance trrau et ed b body 1s 154.m. 

2 Dircection of A and B c Norcth Ond S0uth Mespectivelu. 

As th body trraveed rtom A to BinCirrculan 
padh and AB is a diomctre SO th dis placement 
of fn bod would be ftzom A to B, maong 

Norcth to South and hecause he hoolydidn't 
Change dinect?on its displa cementis in South dirwcion 

Nou let readius Ofcirclo beE 
Then imcwmformence= 2t r E314 

2 T = 314 
2x3.14 r= 311 

= 314 50 m 
2 314 

Bo diametre 2Cc) 2(50) toom 

Hence displacement Df bodyiS toom in South diection

- veLO cdty 0 bod 1Ss Av ercaqe 5, mS 



Page. 

3 aDefin e creulan motion 

b An Ao orctificial Sateliteis moving in aCICCLLa 
Orthit o tadius 250 Km Colcuuate its 

linearr velo.city 1 t takes 24 hrs to Ovolue 

ALOUnhd torcth 

The mation of _0 parctic1e body olong 0 

_cincleis Colled cimeuar motion 

bTme taken to rreuolue around Earcth 24 his. 
Dstance ttravelled bu &atelite -2- 42,250 km 

in ea veiocits of Satelit e 
42, 250 Fm 

24 hr 

42 2S0a l0o0 
24x 360o 0 

2 

4 2 8 25 x 10 21258 Leo 
24 %36 24 8 

21 25x 25 625 = 12L5 mIsS. 
6 (8 36 


